Az ssiz=se SN LRI
M U0 HATH
= PN v B R L (2 M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
L= XA HIE 12,603,993 7,424,227 5,179,766
= 6,432,000
S 6,171,993
=S NHEEH 871,263 666,740 204,523
= 32,000
= 839,263
AExrd & A0 573,215 410,722 162,493
= 32,000
= 541,215
O - IH=F St 395,400 248,552 146,848
201 &gt=2E| 5,000 6,052 1,052
01 At22t2lH] 5,000 6,052 1,052
OSTrdlatE I 2el & 2 3,000
CERE = sl 2,000
202 O 10,000 12,100 /2,100
01 =LA b 10,000 12,100 /2,100
OO - F SAtddt e 6,000
Q01 - = g7 =& 32X 0l 3,480
OSFA ZHS-AL X2 520
204 X2 =HH| 8,400 8,400
03 S 3| 8,400 8,400
ot eS| 50,0003 x14&+12& 8,400
206 M= HI 312,000 162,000 150,000
01 MHZH 312,000 162,000 150,000
OHIN Bt & Hold=s F 312,000
207 A E 40,000 40,000
03 A& &3] 40,000 40,000
OO0 - HE SKHlst AIFHR 40,000
401 A2 HIYL SO 20,000 20,000
01 Al&H] 20,000 20,000
OSIHHLAIE Sl 7AE> 20,000
L5 AIE 2 132,100 122,170 9,930
201 egr=2E | 63,600 3,000 60,600
01 AtR2teld] 3,000 3,000 0
OUMEAN =Het =8 =22 & S22 3,000
02 S22l 60,600 0 60,600
OARZS 2&HIINM =X 2 60,600
202 O 8,500 8,500
01 =04 8,500 8,500
Oou=8 AIZA+ RN 8,500
206 M= HI 30,000 30,000
01 MHZH 30,000 30,000
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M U= TExd
Bl AEEd & e (CH M)
A= - 2A - ZH - SRA(3) - MRAY - B85 Off &boH %E% Hus2
OMAN =Fet & Al 2 30,000
207 A0 20,000 20,000
03 Alg &2t 20,000 20,000
ONES L IRE AEAHT 20,000
405 THHE S| 10,000 0 10,000
01 ML ESFH S 10,000 0 10,000
OAE 7 A I & 10,000
ARDSHE 2 (2D) 45,715 40,000 5,715
= 32,000
= 13,715
201 L2 4,000 4,000 0
= 2,800
S 1,200
01 AtR2teld] 4,000 4,000 0
OUMAAN ACIE G4l 2E Y 4,000
= 2,800
[ 1,200
202 Odd| 1,000 1,000 0
= 700
= 300
01 =LA LI 1,000 1,000 0
OUMLAN ADIE E2Al HRFZ 1,000
= 700
= 300
206 =4l 12,000 25,000 A13,000
= 8,400
< 3,600
01 =4l 12,000 25,000 13,000
OUMAAHN ADIE E2Al ATHE
= 12,000
= 8,400
== 3,600
207 ANl 28,715 10,000 18,715
= 20,100
S 8,615
03 Al -2t 28,715 10,000 18,715
OUMAHN ADIE A AIEAR 28,715
= 20,100
< 8,615
A 32| 298,048 256,018 42,030
BFAN2E 261,048 245,018 16,030
201 2= 178,618 137,118 41,500
01 At22t2ltl 21,518 27,118 A5,600
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I U KRES
Sl FAF 2 (el 28
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t

OFEAM2E RAlZel 11,230
OZASEXNXET S CHUHEXIE FH| 10,000
032 =2l 283

02 SE294| 157,100 110,000 47,100
OFAN2ZE Rl 140,600
OHdIE MOt EAHE 16,500

202 04| 430 300 130

01 =WO4HI 430 300 130
OfAIZt U7 =& S22 Ol 300
OZ22% SMSEAL XA 130

401 AlEBIZ 20| 82,000 106,000 A24,000

01 Al&H| 82,000 106,000 A24,000
oaas ¥ RUAE Szt 20,000
OSAHMA & AIHAHRS HES 62,000

221 29 37,000 11,000 26,000

201 22| 12,000 11,000 1,000

02 324l 12,000 11,000 1,000
oO3EXY 22 12,000

405 RHAHFSHI 25,000 25,000

01 ML =S SFSHI 25,000 25,000
o=2xx +4 25,000

W= Hgssd 10,420,400 5,565,766 4,854,634
= 6,400,000
== 4,020,400

L= HEs4 10,420,400 5,565,766 4,854,634
= 6,400,000
& 4,020,400

W= ASOI8 1215 915,720 727,070 188,650

202 o4t 5,000 6,480 A1,480

01 =i b 5,000 6,480 A1,480
OU=+H HR=A 5,000

308 RtXIHMSO0IH 310,000 294,900 15,100

01 AXSHBLEES 310,000 294,900 15,100
Oou=% LAX A2 2| X2 60,000
OMENH wet & SEAHS ==0H 250,000

403 XX HMSAH=01H 600,720 425,690 175,030

01 XXM 22X 600,720 425,690 175,030
OAADIBAIE Y JIXHM K& 88,200
OU=H = LAZ SHst Al 133,000
OU=H HHA3E i EHHl XA 98,700
O0e SsHEAIE K& 48,600
OW=H &l - =2 I - B 150,000
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Az ssizEs SN LRI
B U0 ojesa
Chel: L4t OIS A CERE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
Ou=H ol HMEH HEEZS 2 HE 67,220
O8Oz N& 56 A2 15,000
LH=O = AFSX OHY R (FEAIY) 884,680 865,360 19,320
308 AtXISHMSOIH 884,680 865,360 19,320
01 IXSHBAEES 884,680 865,360 19,320
OUs=H =ASX IHYYS(HE) 884,680
=S SAIE SH>EE (M EALY) 300,000 150,000 150,000
308 AtXIEtMSO0IA 300,000 150,000 150,000
01 AXESHNBAEEXS 300,000 150,000 150,000
OU=H SAIH SN (HE) 300,000
Oz WE4=(=21) 650,000 568,750 81,250
= 500,000
= 150,000
403 XX HMS K201 650,000 568,750 81,250
= 500,000
== 150,000
01 AXHAA=2E L 650,000 568,750 81,250
OWE e+ 650,000
= 500,000
& 150,000
Ao KpSHARtE 2H(=21) 7,670,000 520,000 7,150,000
= 5,900,000
& 1,770,000
403 XX HMS K201 A 7,670,000 520,000 7,150,000
= 5,900,000
= 1,770,000
01 MXIHAA2E X 7,670,000 520,000 7,150,000
OAHNHAEE =Y 7,670,000
= 5,900,000
== 1,770,000
HAY2AZH(LH+=HRRALEH) 1,312,330 1,191,721 120,609
old 24| 1,245,337 1,124,608 120,729
S2& 2l2H| K& 993,562 8%6,200 97,362
101 eI244| 957,802 864,340 93,462
01 8= 957,802 864,340 93,462
©P k== 768,712
O== 722,9%
-ASH 174,376
= 91,317,000&* 1 91,317
= 83,059,000& 14 83,059
- B 548,618
= 4,075,840 x38 12 146,731
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Az sEi=e SN LRI
Hu: 2| (LSS AME)
el oo gy (cro): 2
AT 24 - B ORI - MRAE - B2 0f &t i HIDS2
= 3,514,240 6~ 123 253,026
= 2,217,650 x2F 122 53,224
= 1,743,300 x1F+ 122 20,920
HTAL 3,113,2002 2+ 123 74,717
Odz2+< 45,717, 9603 »50%+22] 45,718
o= 87,578
OItE=E 11,040
-HH At 40,0002 x14F 128 6,720
-2 20,0003 ~6E » 122 1,440
-SAINE(SMAA)
60,0002 «4&x 12 2,880
O& It 11,520
20201 & 100,000& x6&*12& 7,200
-15~204 80,0003 x1&*12& 960
-10~154 60,0002 x3&* 123 2,160
-5~104 50,0003 =28+ 12& 1,200
oz 7,361
-2 Bt 153,3483 x4+ 128 7,361
ORI+ (EE)
40,0003 1128 480
OJls3d8+4 3,840
-5= 50,0008 x 18128 600
7= 30,0002 x5~ 122 1,800
JIEEESY ORI (ZHIDHEE)
20,000 4~ 128 960
8= 20,0003 =2« 128 480
oo +g 80,0008 x2&* 12 1,920
OAIZtl =%
11,4263 x 15 #25A| 2t 128 51,417
OgZE=IHI 54,861,550& 54,862
OZASAI 140,000& x16E * 122 26,880
O It 24| 19,770
O =R (43) 170, 1543 x 1+ 12 2,042
O =X (53) 166,67 1318 +12& 2,001
O==H 93,6133 »14H 12 15,727
204 P 35,760 31,860 3,900
02 Me2xH] 35,760 31,860 3,900
O4= 400,000 x1F+ 122 4,800
O5= 250,000 x1F+ 128 3,000
O6= 175,000& x3&* 123 6,300
ors 165,000& x6H 122 11,880
0892 155,000 «3F+ 122 5,580
OHFAL 175,0008 x2& x 122 4,200
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Az sEi=e SN S TR A
B HE2AAY| (BRI HE)
chel: ol 2g| CERE)
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
SAtdLE & 2 207,156 187,964 19,192
101 e124b] 185,649 168,513 17,136
03 SRH(RINH) 22X+ 185,649 168,513 17,136
OAtY A3 185,649
023 2,370, 7703 «4H*12&8 13,797
od2+¢ 2,370, 7703 +4H 22| *50f% 9,484
Ouxtr=Ft=¢
170,810 x42i* 122! 8,199
OARteI2R4Y
19,2143 » 150%*4H+20 A 2H+ 123 27,669
OJtE=e 3,600
- Xt 40,0003 x2&~ 123 960
-R LIS 20,0002 +x38~ 122 720
-RLINE(SMAA)
60,0003 x 18 »12& 720
-SLINF(AMAA)
100,000 x 18+ 122 1,200
OgZ =l 9,483,080 x22] *60% 11,380
OdHZAHI 140,000 x4H« 128 6,720
OunsHl 100,000 x4+ 12& 4,800
4 HASREESS 21,507 19,451 2,056
04 SR (RIAH)2 2N EEHIRES S 21,507 6,366 15,141
o=gg=s FY= 8,635
OU2AEE REY= 7,522
ONEEE RY= 5,350
A2 & 2el 44,619 40,444 4,175
101 el2ib] 40,048 36,283 3,765
03 SR (RINHA) 22X+ 40,048 36,283 3,765
OFA AlE22H 40,048
@F=1¢ 2,163,4102x 12+ 122 25,961
oz24+g 2,163, 41024%12+35%+23] 1,515
OURNRIEIN+Y 91,300+1 24 122 1,096
OARRIIRR4Y
16,6622 *150%+20 Al 2t 1H » 128 5,999
OgZ =l 2,163,4102 22| +6(0% 2,597
OZH=AHI 140,000 x 1+ 122 1,680
Ol EH| 100,000& x1& =123 1,200
04 HSRESS 4,571 4,161 410
04 BRA(RIAHA)2 2N BEEHSRES S 4,571 1,362 3,209
O=2z F8= 1,835
oAHEE FE= 1,599
ONEEE REY= 1,137
Jl=2&d| 66,993 67,113 A120
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Az sEi=e SN S TR A
M HHRIZH(W=HIHRHEH)
el JI=23| EEEED
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
FANE2E Jl=&Hl 37,833 37,833
201 Zet2E| 17,638 17,638
01 At22tcH] 17,638 17,638
SME2E AtR2el] 17,638
202 Ot 7,695 7,695
01 2LHoIHI 7,695 7,695
OFMEY =0 7,695
203 =& 7,700 7,700
01 J2=gdg =2 3,300 3,300
oar¥ 3,300,000& 3,300
02 SRIHAHA R =EH| 800 800 0
OFEINI= 40,0002 *20H 800
4 EAEIER=AH 3,600 3,600 0
©202! Olat 300,000 10 A 123 3,600
204 R -Fy| 4,800 4,800
01 MM SR+ A 4,800 4,800
(OFAESs 400,000 *1H*12& 4,800
gdaa 28 29,160 29,280 A120
201 &gr=2E| 29,160 29,280 A120
01 At22t2IH] 29,160 29,280 A120
og - =4l 28,860
ogxa E+ MEY 300
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